Facit til Kernestof Mat 1 HF — Traeningssider 5
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a) 3-—(x+1)=2+x
3—x-1=2+x
2-X=2+x
2-X+X=24X+X
2=242x
x=0
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b)

a)

b)

2 —(x-3) =4 +2x
2-X +3 = 442X
5—x=4 +2x
5-X+x=4 +2X +x
5=4+3x

5-4 = 4+3x-4

1=3x
1

X=3

3+ 3(x-1)=2x-1

3+3x-3=2x-1

3x=2x-1

3x-2x = 2x-1-2x

x=-1

2 —x=3(4—x)

2—x=12-3x

2 —x+3x =12 -3x +3x

2+42x=12

2+42x-2=12-2

2x=10
2x_10

2 2
Xx=5

-2a +2b -2ab
—-a-b—ab
-2a’-b
3a%+2a+5

X+2
y2+y
-3x-2

3x-8

-4x2+4x

-4x2-x+8
aZ+a-b+ab
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a) 16

b) 100
c) 27
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b) r

c)

d)

d)

18,84
4,5

43
62,8
120

64
28

s2 =0 —51-S3



